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1. The incomplete histogram and table give some information about the times, in minutes,
that cars were parked in a car park.
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~ {a) Use the information in the histogram to complete the frequency table. :
Time (¢ minutes) Fréquenev : Fﬂ’;ﬁ’g D@‘ﬁ&j fﬁﬁw‘} i M A
0<7< 30 tx3c= 3o 4 | |
20 <7< 40 35 25 3 5
40 <1 < 60 Bx2oz 6o 3
60 < £ < 80 30 do% do = 15
80 < 1< 120 20 2ot Ho = D5
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(b) Use the information in the table to complete the histogram.
See obove —
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2. A call centre receives 64 telephone calls one morning.

The table gives information about the lengths, in minutes, of these tdephc:}ne calls.
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3. The mcomplete histogram and table show information about the weights of some :
containers.
Weight (w) in kg | Frequeney | & resq - dens’ f”g ‘
0 < w < 1000 16 62 iopo= 00l
[0-0l0 ¥ Zﬁm) 3 2000 < w < 4000 95 .ol O
4000 < w < 6000 16 |6 FRe00 =000
C@h*‘ﬁﬂé%; zm‘ﬁ) =} 6000 < w < 8000 {2 0+ 006
8000 < 1w < 12000 8 8¢ 4000 = 0002
{a} Use the information in the histogram to complete the table.
(2)
(b} Use the information in the table to complete the histogram.
(2}
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4. The incomplete histogram and table give some information ahout the distances some ’

teachers travel to school.
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_ {a) ‘Use thé information in the histogtéﬁﬁ to .cdmple‘_ié: the frequencj table.
Distance (4 ko) Frequency F‘f@ﬁ%v@m éigj zfi@.ﬂg{”’s @
0<d<5 15 ise S = 3
5<d<10 0 265 = 4
9., 5%l =25 10 < d <20 L5 2.5
. Bx20 =16 20 < d < 40 1) 03
40 < d < 60 10 o520 = 0:5
2
(b} Use the information in the table to complete the histogram. :
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5. Tom asked the students in his class how many hours they watched television last week.

The incomplete histogram was drawn using his results.
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Eight students watched television for between 10 and 15 hours. ~—=7 Eﬁf @fﬂ-’f . (.%f..mf;’g
Six students watched television for between 0 and 10 hours.

(a) Use this information o complete the histogram.

No students watched television for more than 30 hours.

(b) Work out how many students Tom asked.
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6. Some trains from Manchester to London were late. ' 5
The meomplete table and histogram gives some mformation about how late the trains
were.

Minutes late (1) Frequency ﬁf [ éi? @ Qj eis s’{y
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{a} Use the information in the hstogram 1o compleie the table.
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(b} Use the information in the table to compiete e histogram.
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7. The incomplete table and histogram give some information about the weights of peonle at
a keep-fit session.
6 A
Frequency
density

40 56 60 70 80 90 . 100
| weight (w)'kg

Use the information in the histogram to complete the frequency table.

Weight (w) kg | Frequency % &? CEQML‘»EZ&
40 < w < 50 10 R E=N,
s0cw<ss 86 9= 24 B
55<w<60 bx 5230 -

60 <w<75 15 |
75 < w< 95 8
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8. The incomplete table and histogram give some information about the heights (in cm) of |
some sunflowers.
Height (7 cm) Frequency Fre;siuem} denst !3
100 < 7 < 130 30 2pt3pz
150<h<160 |bXW 6O _' é
160 < h < 180 40 dptgo = 2
180 < & < 210 18 18~ 30 =06
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(a) Use the histogram to complete the table.
()

{b) Use the table to complete the histogram.
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9. The table and histogram show information about the length of time it took 165 adults to
connect to the internet.

Time (z seconds) Frequency ?W&ﬂg- dﬁ'“"‘ﬁ?{@
0<r<10 20 -Q@«éiim-fL
10<r<15 BLS52 4 % |
15<e<175 1 30 o deds =

175 <1<20 40 A 22.5 = I8

20<¥<25

L-H(,%.: 1o

25 <1<40

Ixis=15

None of the adults took more than 40 seconds to connect to the internet.

{a) Use the table to complete the histogram.

2)
{b) Use the histogram to complete the table.
2)
2003
e [T ESEs Sus e ms femsSeumy s shunea R R e e
6 ; :
f : A
i1 - 7 R0 0
. e £
io ;
0 0 o i
g b T
4 flv
éﬁ " ‘f
o i i
tE= SRR
0 5 10 15 20 25 30 35 40

Time (seconds)

Leave “
blank |




i Leave !

. blank
2004
kleqv T y & B N I I W R S
O 5 10 2.5 15 20 4 25 30 - 35 40
Time (seconds)
The histogram shows Informatlon about the time it took some children to connect to the
internet. - S
None of the children took more than 40 seconds to connect to the internet.
'110 children took up to 12.5 seconds to connect to the internet.
(c) Work out an estimate for the number of children who took 21 seconds or more to
connect to the internet.
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